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A — | (10 %) Solve the differential equation:s" + 2y’ + 5y = 0,7(0) = L¥(0) = &
WAL= . (10 4 ) Simple answer questions: (a) Divergence Theorem (b) Fourier transform

S

AAA = (10 %4~ ) Solve the differential equation:y" +y = sec {£)
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AAAY - (10 %) Evaluate (a) the Laplace transform of sin(ot), (b) the inverse Laplace
transform of s/(s® + 4s + 5)

SHAE (10 4)
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Evaluate the integral (a)ﬁ 2y dx + x dy, where c is the circle x*+y*=1, (b) fﬁ ﬁﬂ
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AR (20 %)

The 2x2 symmetry Matrix A has the form 4 = {

-2 3
J3 -4

i& , please find A*L.

WAL (b4
Evaluate the integral I J;zda if X isthe part of the plane x+y+z=4 lying above the rectangle

0<x<2, 0<yx<].

AR (15 4
Let ¢(x,y,2) and w(x,y,z)be scale fields. Prove that Ve (Vg x Vt/f) = ()
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